50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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a. Implement ‘wc’ unix command in . 14 (08 Mark:
b. Suppose it is needed to store a backup of a large file with illion records of 100 byte
records on a 6250 bpi tape th ( 47
(i) Internal block gap of 0.. "'”Wlth blocking factor 10 ‘

(ii) Internal block gap of 022" with blocking factor 20
for each case calculate the”‘space required to store ﬁle ‘on the tape, effective recording densit

and effective data trans" ission rate with a tape speed of 2001ips. (08 Mark:
) ORy_
a. Implement “leed Jlength Field” Method 0 ﬁeld structure using ‘“#” as a record delimiter i
the file. 4 (04 Mark:
b. Implement “Dehmlted Field” method ‘of field structure usmg > as a field delimiter an
“Wasa record delimiter in a file.. N4 (04 Mark:
' (08 Mark:

c. Explain organization of disks and cost of disk access

o Module-2, y
a. Write a C++ program | t0‘ recla1m the Free space resultmg from the deletlon of records usin

linked list. Yo/ (10 Mark:
b. Explain the key sortmg technique and thelr hmltatlons (06 Mark:
A 1 4 . © W
fs@ Vz/ e : & .
a. Explam operatlons requlred to mamtam an Indexed file. ° (08 Mark:
J (08 Mark:
* ( Module-3 .

a. Wnte a C++ program to: read K-list of names and merge them using K-way merge algorith
/WithK =8, ] Ay (10 Mark

b“‘* Usmg c- sequent1a1 match based ona smgle;loop demonstrates inter section of two lists.
R~ . (06 Mark:

a. Writea Formal deﬁmtlon of B Tree and explain the worst case search depth of the tree.

R4 (08 Mark:
b. With an order 4 construct, B Tree for the following set of keys and show the operation ¢

merging and redlstrlbutlon.

MNABJKLCRSDEO—»setofkeys (08 Mark:
SRy Module-4
a. Explain 51mp1e preﬁx B +—Treeand its maintenance. (10 Mark:

b. Write a note on Indexed sequential Access. (06 Mark:
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OR gk,
Explain the block splitting and merging due to Sertlon and deletion in the sequence st
with examples. R (10 Mark:
Differentiate between B —Tree and B+ Tree 5: (06 Mark:

the progressive overflow Collision resolutlon technique. (10 Mark:
Suppose that 1000 locations are al!ocated to hold 700 records in : a randomly hashed file an

(iii) Expected number%of addresses with exactly one record |
@iv) Expected nu‘ iber of overflow records

&\n
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